A. 3apaHusi HOpMaTUBHOIO YPOBHSI.
1)7a-7B+an—-bn

2) XY +2y +2Xx +4

3) y?a - y?b + x%a - x%b 3)
b. 3apaHusi KOMNEeTeHTHOro YpoBHSl .
1)Xy+2y-2x—-4
2) 2cX —cy — 6X + 3y
3) X2+ X Y + Xy2+ Y3 >
C. 3apaHus TBOp4YeCcKoro ypoBHs
1) x*+ X3y - xy3- y4

2) Xy?—By?—ax +aB + y’—a

3) X2—-3X + 6 — 2x ?)

7a-7b+an-bn=7(a-b)+
n(a-b)=(a-b)(7+n)

Xy + 2y + 2x + 4 = y(x+2)+
2(x+2)=(x+2)(y+2)

yh2a - y*2b + x"2a - x"2b = a(y*2-x"2)
-b(y*2 - x*2)= (y*2 - x"2)(a-b)

Xy+2y-2x-4=y(x+2) -2(x+2)=(x+2)(y-2)
2cx -cy -6x + 3y =2x(c-3)-y(c-3)=
(c-3)(2x-y)

XA2 + xy + xy"2 + y*3 = x(x+y) + y*2
(x+y)= (x+y)(x+y"2)

XM+ x"3y - xy"3 - yM= x"3(x+y) -
yA3(y+x)=(x+y)(x"3-y*3)
xy”r2-by?2-ax + ab + y*2 -a =
yA2(x-b+1) - a(x-b+1)=(x-b-1)(y"*2-a)
xA2-3x+6-2x = X(x-3) -
2(-3+x)=(x-3)(x-2)



